N = 0 &8 AH Y H N AN
20168 = 20l A& LB H L IJIEIEE S H 2SS
BAH: ARS
M AR AMIEHI
FR: FONXHEH WHASE & HoAAME XA (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
LrRS 248,747 270,824 N22,077
ARS AE A 166,652 187,600 N 20,948
FOXXAE HWAS2E L HoAAIL X 99,392 120,340 N 20,948
FOUTXAMH 2 60,596 61,200 A 604
201 et A | 55,596 58,700 AN 3,104
01 AFR2t2l Yl 49,400 51,500 A2,100
OdHE2g Litx==H| 3,400,000 3,400
OZ A=< 37,000,000& 37,000
O < 9,000,000 9,000
02 352494l 5,196 6,200 A 1,004
OUEFUXNXME ROBHAAHY EAz
183,000& *12& 2,196
OFUXXEE AlER X 22l 3,000
- oHF0I XX Al H 1,000,000& 1,000
-4 QF 0L XX Al E 1,000,000& 1,000
-Ot= F 01 XFX| Al E 1,000,000& 1,000
03 HAFS S HI 1,000 1,000 0
O=a2&HYEE2IIEN 1,000,000& 1,000
301 dEtEAZ 5,000 2,500 2,500
09 HALAHIBEA = 5,000 2,500 2,500
ORF XX EH AS 100, 000& *25H 13| 2,500
OHNM3S NOHZEH FUXNXNAKLS S=sHET
100, 000& *20H 13| 2,000
O2te 3 2| 500,000& 500
FOIHOIAIE X2 38,796 40,640 N 1,844
201 LEt2 A Y| 28,696 26,700 1,996
02 352494l 28,696 26,700 1,996
OFUMEDARHAABRAR
183,000& x12& 2,196
OXER Xl (2TH) 9,500,000& 9,500
O AR X 22l bl 4,000,000 4,000
O8gxHAHEZ 1,000,000& 1,000
oA, s, ots)=2X35 &
4,000,000& *3J4 4~ 12,000
203 &R =&H| 2,100 1,940 160
03 A =X R =XH| 2,100 1,940 160
OSHILRANMFA 2,100,000& 2,100
401 Al HI L £ 0HHI 8,000 12,000 A 4,000
01 A& HI 8,000 12,000 A4,000
OALS F0HH HHAUEZ N Z2AH(14])
8,000,000& 8,000




2M AQS
HM: AQES AFY
Hel: ScletEEsey (22 &d)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
Scletdgsgd 62,260 62,260 0
ScletEdas24Ad 62,260 62,260 0
301 Ltz 62,260 62,260 0
06 -0 -2 62,260 62,260 0
os&d=+¢g 200,000 17 «12& 40,800
Os&d0s 200,000& »17& »23 6,800
OF=F=g-jSIFSEoEas, 20,0003 «17& *12& +23 8,160
Ooety & sl 50,0002 *130& *12 6,500
A2AZHMESUE X 5,000 5,000 0
2z MU AAMXE 5,000 5,000 0
307 giztol & 5,000 5,000 0
04 QIZtHAALE 2 = 5,000 5,000 0
ORM242 21,2, 2HsU 2 5,000,000& 5,000
HY2LIH(ARS) 82,095 83,224 A1,129
ARAHH(ARS) 31,715 29,928 1,787
AFAL(ARS) 31,715 29,928 1,787
101 @128l 31,715 29,928 1,787
03 RINAHAZ 22 31,715 29,928 1,787
OFA2CEELFY 31,715
-Jl=s 1,167, 7503 x1H 128 14,013
-d0= 1,167,750 x1H «4 & 4,671
A2t =G 9,940 1 »22A 2t% 12 2,625
-me2f=E 79,6008 x 1 2L x 123 1,911
=58 53,0703 x1H «52= 2,760
-gisEsE 53,070 x1&~10& 531
-gAg A 80,0003 x1H =123 960
- SE2 X 60,0002 x 12« 12& 720
-tE+g 60,0002 x1H =123 720
-2 30t 1,167, 750& «2& «60% 1,402
-Jtet =S 1,167,750 18 «12& «10% 1,402
23H(AeS) 50,380 53,296 N2,916
EZ(ARS) 50,380 53,296 N2,916
201 2Bt Yl 21,500 22,416 A916
01 AtR 22l | 9,500 9,416 84
ORMESE AR 22t 9,500,000& 9,500
02 s3=29Hl 12,000 13,000 21,000
o&lIes 8,000, 000& 8,000
Odot==a=s 1,000,000& 1,000
oRER= 3,000,000& 3,000
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